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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is the secondary motive
"?ffk-i'?f‘-'gruﬂutj
Options :
Achievement motive

SHESs S
o

Hunger

S

Avoidance of pain

CAIRY]
3. % 7

Elimination of body wastes

LIRS L
4. %

Question Number : 2 Question Id : 7150533062 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

“Development 1s a never ending process” identify the relevant principle of
development
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Options :

Principle of Interrelation

P

1. %

Principle of Continuity

Ve 1)

2. %

Principle of Integration

lfi-herﬁl

Principle of Individual differences
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Question Number : 3 Question Id : 7150533063 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The second stage in Erickson’s Theory of Psychosocial Development 1s
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Options :



Intimacy Vs Isolation
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Industry Vs Inferiority
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Intiative Vs Gult
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Autonomy Vs Shame
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Question Number : 4 Question Id : 7150533064 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to Carl Rogers. behavior 1s influenced by

—e bttt s S L 2 S
Options :

Genetic make up
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Self-concept
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Unconscious desires
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Environment
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Question Number : 5 Question Id : 7150533065 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From the following, identify that predicts the future attainment of an individual
with adequate training
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A)  Aptitude
e

B) Achievement

S

C) Attitude
%-L'
Options :

A & C only
2 ABIC



A only

A

AB&C

CaalBeA
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Question Number : 6 Question Id : 7150533066 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Army beta test 1s an example for

b
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Options:

Verbal group intelligence test
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Non-verbal group mntelligence test
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Individual verbal intelligence test

BSOS

Individual performance test
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Question Number : 7 Question Id : 7150533067 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT an example of Projective Test of Personality
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Options :

Rorschach Ink blot test

..*.-Jﬂf:rqi:f.lj"k B,
1. %

Thematic Apperception test

5 x Gldsidlsy

Children’s Apperception test
3 %

Minnesota Multiphasic Personality Inventory
4.+

Question Number : 8 Question Id : 7150533068 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Learning 1s formation of ‘connection between stimulus and response’ in the nervous
system. according to
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Options :
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Thorndike
h&‘: P

Bandura

e
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Piaget

>k

Kohler
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Question Number : 9 Question Id : 7150533069 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In this schedule of reinforcement. an individual doesn’t know when he 1s going to be
rewarded
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Options :

continuous reinforcement schedule
sl

1. %

fixed interval reinforcement schedule

S
2. *



fixed ratio reinforcement schedule
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3.

variable reinforcement schedule
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Question Number : 10 Question Id : 7150533070 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Human learning is always purposeful and goal directed and 15 essentially based on
one’s cognitive process 1s the essence of
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Options:

Trial and error learning

Insightful learning

Sy
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Classical Conditioning learning
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Operant Conditioning learning

4, %



Question Number : 11 Question Id : 7150533071 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The propounder of ‘observational learning” 1s
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Options :

Bandura

J"-
Lis i

Carl Rogers
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Vvgotsky

Fedis

Pavlov

Jal

Question Number : 12 Question Id : 7150533072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to Ebbinghaus. the amount of matenal forgotten after a lapse of 20 minutes
1s
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Options :
75%
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Question Number : 13 Question Id : 7150533073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Learning of Hindi helped the student to learn Sanskrit. This 1s
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Options :
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Negative transfer
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Lateral transfer

3. % J‘Lub



Positive transfer
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Question Number : 14 Question Id : 7150533074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In the teaching learning process. identify that ndicates child centric environment
2 Lo st r o r o .
EessdUrud S S WIS
Options :

Teacher transmits the knowledge to students in the class
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Students passively receive information from the teacher
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2. %
Students engage actively in the classroom activity
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3.v

Teacher giving information from the textbook
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Question Number : 15 Question Id : 7150533075 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

An individual with an IQ of 40 is considered as
e P U17504041Qe T o 57365 yid

Options :

Idiot

5 Imbecile

3 % Moron

“ Profound

Question Number : 16 Question Id : 7150533076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to Bruner, m Iconic stage of Cognitive Development. things or events are
represented as
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Options:

mental pictures

Tt
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actions
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symbols
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language
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Question Number : 17 Question Id : 7150533077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

*Guidance’ 1s a process of
2 lafidls,

Options:

giving nstructions to the child

p
e boecias &

teaching ethics to the child

2. % el e Gz

directing the child to behave in correct manner
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assisting child in making wise choices
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Question Number : 18 Question Id : 7150533078 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is the characteristic of Authoritarian leader
f_:--:."v"’? dj.:.dg;rl/‘lp.f_[:f;_,.t_i.__.-f’
Options :
leader instructs members what to do
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eroup members tell the leader what to do

- & oAty "l o o=
~e b/ S gl bl s

leader discusses with members for doing any activity
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leader works together with members of group
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Question Number : 19 Question Id : 7150533079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Right to Education Act. 2009 received the assent of President of India on
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Options :



26™ August — 2009
+2009=1,26

24 5 anuary — 2009

20095572 /24
2. %

26™ September — 2009
2009 # /26

26% October — 2009

2009251 26
4. %

Question Number : 20 Question Id : 7150533080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
One of the following 1s the simplest form of thinking
-s;‘-uﬁu'i’fdffu%r-géﬁufiffﬂ
Options:

logical thinking

2 B
1. % G0

creative thinking



concrete thinking
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critical thinking
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Question Number : 21 Question Id : 7150533081 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Retention time 1s extremely brief in
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Options :

episodic memory

L, Bl

photographic memory

Bl
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Question Number : 22 Question Id : 7150533082 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement with regard to ICT based learning
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Options :

It supports the learners in the leaming
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1.9

It replaces all other forms of learning

LS T,

It 1s equivalent to all other forms of learning
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It 15 a superior form of learning when compared to other forms of learning
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Question Number : 23 Question Id : 7150533083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify. which of the following 1s NOT a purpose of developmental tasks
S GsE e S aBE LI 5
Options :

1. %



They guide parents what can be expected from the children at different ages

_;.:__L?ﬁl?l,,{ﬁ ?g’:,ufjﬁu:/_&ff_."ujé'_.fju%ﬂq’,dlm

They help teachers to segregate children as per their development and assign age
appropriate tasks

_Jﬂ,):_ﬁﬁ‘(Kﬁ.ﬁ@i};ﬂq/_ﬁ];ﬂb‘ilrf;’; Jul:rfu;fuj E;’._-)/JJ- ufafofu
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They serve as motivational forces for children to learn the expectations of social
groups

_L,_"}’L)T*F/{*J}bi:juiif__]- Z.U‘Jf_i iéfég“ipdhf&?“

3. %
They help to provide opportunities to children to learn and adjust
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Question Number : 24 Question Id : 7150533084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This indicates that the child 1s not ready to learn
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Options :

Disinterest

nﬁa‘rﬂ*‘

1.4

Interest in learning

2. %



Sustamed interest

3, % s

Intrinsically motivated
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Question Number : 25 Question Id : 7150533085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the following statements, identify the correct statement with respect to individual
differences among identical twins
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Options :

They are same genetically and environmentally
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1. %

They are different genetically and environmentally

_ufiﬁﬁa.ﬁgdyimldp?u
2. %

They are same genetically but may differ due to environmental influences
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They are different genetically but same environmentally
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Question Number : 26 Question Id : 7150533086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT a guideline of (NCF) — 2005
e T b0, L2005 Sb AL sF Ll S 50000

Options :

connecting knowledge to life outside school

o Bzl alJFdF i

connecting knowledge to four walls of class room

Cire Sy el et S
2. ;

making examinations more flexible

AR # PO -

learning 1s shifted from rote methods
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Question Number : 27 Question Id : 7150533087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Among the following. which act of the teacher DOES NOT help in improving
divergent thinking among learners

S 4 u’:;:_.l.‘r.ﬁf:(&f 3k df;ﬁiuﬂf:éfu_r@:ﬂfl St
A) giving the activities that have scope for abstract thinking
&, .5 - .
P Serdaf LS oSS
B) asking the questions that have uni-directional responses

Unel2d AL LS ey

C) asking factual questions

i
(i J @
D) giving assignments to bye-heart the material
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Options :
ABC&D

D.iC «BeA

A, C&D only
.~ AC&D

B,C & D only

_i~ B.C&D
3.v

A,B&D only

_i~ AB&D
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Question Number : 28 Question Id : 7150533088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The purpose of using the Case Study Method 1n knowing about an mndividual or
mnstitution 1s
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Options:

to get quick results

4.“ I.H:_.quw bifvd)f

to study in depth
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to assess only weaknesses

L S LN ULnf S

to understand quickly
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Question Number : 29 Question Id : 7150533089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Childhood is called the ‘ideal age’ for learning motor skills. Identify that DOES NOT
reflect the said statement

2Bl S S Sl bl AU o LA $7 I
Options:
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Their bodies are more pliable

-u_r;a"_.mr,g”yrf‘-’iu,

They are more adventuresome and eager

_ujf_.ﬂ;:ﬁri.f:fﬁf‘."u}_.}u
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They enjoy repetition and practice with enthusiasm

. b -3 i &
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They learn under pressure created by the adults
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Question Number : 30 Question Id : 7150533090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Reducing the play time to children because of their low achievement in academics 1s an
example for
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Positive Punishment

Trad

Negative Reinforcement

L
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Positive Reinforcement
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Question Number : 37 Question Id

: 7150533099 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 7150533100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 7150533101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 7150533102 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 715053153
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 41 Question Id : 7150533103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 7150533104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 7150533105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



U0 A
Options :

1. % il

Ty

Question Number : 44 Question Id : 7150533106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 7150533107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 7150533108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 7150533109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 7150533110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 7150533111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 7150533112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 7150533113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 7150533114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

. e & - - . i - i &
- Ul !'.*ff-uh L ask sk bk v

Options :
1. % b
Pl
Jag=u?
2. %
u}-, &
..*:-*FL_,E— ,_,fv
4, %

Question Number : 53 Question Id : 7150533115 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 7150533116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 7150533117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 7150533118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 7150533119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 7150533120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 7150533121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 7150533122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Language II English



SectionId :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Id : 7150533123 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (61 to 65)

Question Label : Comprehension

71505392
3

Online
Mandatory
26

26

30

Yes

0

1
715053154
Yes

null



Read the following passage and answer the questions from 61-65. Choose the correct
option for each question.

The curiosity which makes us come out of our room and leave our study when we hear
uproar in the street holds mirror to our anxiety about our fellow beings, though verging on
sentimentalism. Apart from that, this reduces the tedium of work, breaks the spell of boredom
and engenders in us new energy, and we go back to our work with revitalized interest.

How curiosity develops our personality and intellect can be best known from the study
of Wordsworth's and Shelley's lives. Wordsworth's curiosity led him to love nature. Whether
it was the enigmatic sound of the cataract or the rustling of the leaves he fed his senses to
satiety and gave us wonderful nature poems. Shelley who used to make startling experiments
like an Indian magician expressed his love for what was not traditional. And his poems and
life are only a vocal expression of hus fondness for the unusual curiosity of Keats kindled by
his furst reading of Chapman's Homer made of him a poet of unique imagination so much so
that the sight of a 'Grecian Urn' could inspire him to write a wonderful ode.

In fact much m literature and art is curiosity translated into singing words, immortal
characters and wonderfully eloquent pigments or stones. It 1s, however, a different thing
whether their curiosity to know and understand and to unravel the mysteries of human nature
was 1dle or otherwise.

Sub questions

Question Number : 61 Question Id : 7150533124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement as per the passage.

Options:

Curiosity reduces the tedium of work, breaks the spell of boredom and engenders
1N US NeW energy.

Curiosity develops our personality and intellect.

Curiosity is translated into singing words, immortal characters and wonderfully
4 cloquent pigments or stones.

4.+



Curiosity may be the one which does not help us know and understand the
mysteries of human nature.

Question Number : 62 Question Id : 7150533125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the word from the passage which means ‘mysterious’.
Options :

1 % fuent

enigmatic

3 % immortal

cataract
4,

Question Number : 63 Question Id : 7150533126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The author of the passage says, “Apart from that, this reduces the tedium of work...”
Identify the meaning of the word “tedium.”

Options:

1¢ dullness



curiosity

attraction

mystery
g% T

Question Number : 64 Question Id : 7150533127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Whether 1t was the enigmatic sound of the cataract or the rustling of the leaves he fed
his senses to satiety and gave us wonderful nature poems.” Whom does the author talk
about here?

Options:

Chapman
1. %

> % Keats

3 ¥ Wordsworth

4 % Shelley

Question Number : 65 Question Id : 7150533128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



As per the passage. who 1s the author of the literary text 'Grecian Urn'?
Options :

Chapman

5 % Shelley

3 % Wordsworth

4. Keats

Sub-Section Number : 2
Sub-Section Id : 715053155
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 7150533129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The old woman to the temple every day.
Choose the correct option to complete the sentence.

Options :

came
1. #

5 % has come

3 % come



coInes

Question Number : 67 Question Id : 7150533130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct word to complete the sentence.

Presently, the problem 1s that industries set up in the backward area because of
the concessions offered there.

Options :

1 % be

are

4. % Wwas

Question Number : 68 Question Id : 7150533131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After their graduation, his daughters are searching jobs.
Choose the correct word to fill the blank.

Options :

1 ¢ tor



oOver

01l

in

Question Number : 69 Question Id : 7150533132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Yesterday, I met him 5 PM.
Options :

1 % SO

Over

of

at

Question Number : 70 Question Id : 7150533133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

They were for the bus, when the accident occurred.



Options :

1 = wait

waited

waiting
3. ¢ =

4 % waits

Question Number : 71 Question Id : 7150533134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word from the given options.
Options :

restarant

restaurant
2. %

restaurent

restraurant
4. ®

Question Number : 72 Question Id : 7150533135 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct Passive Voice sentence for the given sentence.

‘The two warring groups announced ceasefire’.

Options :

1 ¢ Ceasefire was announced by the two warring groups.

Ceasefire announced by the two warring groups.

Ceasefire has been announced by the two warring groups.

Ceasetire had been announced by the two warring groups.

Question Number : 73 Question Id : 7150533136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct option to complete the following sentence.

The son likes going for a walk,

Options :

do he?

1. %

5 % don’t he?

3 % does he?



doesn’t he?

Question Number : 74 Question Id : 7150533137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The children go toschool on bus.
A B £ D

Options :

Question Number : 75 Question Id : 7150533138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

It 1 the Prime Minister of India. I would eradicate this problem.

Choose the correct word to complete the above sentence.
Options:

Were
Rdi



wWas

3;5315

will be

Question Number : 76 Question Id : 7150533139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the verb form to complete the sentence.
A: When did vou come from Delli?

B: I trom Delhi yesterday.

Options :

1 % come

2 % cOoImes

3. o came

have come
4. %

Question Number : 77 Question Id : 7150533140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the subscription which 1s NOT appropriate for a formal letter.
Options :

1 % Yours sincerely

5 ¥ Yours affectionately

3 % Yours faithfully

4 % With obediently

Question Number : 78 Question Id : 7150533141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.

The driver 1s man.
Options:

an honest
1. %

5 % a honest

3 % the honest

honest
#®



Question Number : 79 Question Id : 7150533142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The shopkeeper feels gloomy due to the strike.

Choose the opposite word for the word “gloomy.”
Options :

1 % sad

5 % unhappy

happy

melancholic

Question Number : 80 Question Id : 7150533143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly combined sentence.
A: The passenger ran fast.
B: He could be able to board the train.

Options :

1 & The passenger ran fast. so he could be able to board the train.

The passenger ran fast, but he could be able to board the train.



The passenger ran fast, however he could be able to board the tram.

The passenger ran fast, if he could be able to board the train.

Question Number : 81 Question Id : 7150533144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The students are eager to learn.

Choose the synonym for the word “eager.”
Options:

lazy
1. %

keen

indifferent

4. % dull

Question Number : 82 Question Id : 7150533145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant letter 1n the word *debris’.

Options :



2. % b
;

3. %

4.+ =

Question Number : 83 Question Id : 7150533146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.

The naval exercise will include a large of ships.
Options:

1% bunch

heap

3 % pride

4. fleet

Question Number : 84 Question Id : 7150533147 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct option when the jumbled words are ordered.

die/ would rather/ up/ She/ give/ than/ her freedom

Options :

She would die than give up rather her freedom.

1.
5 She would rather die than give up her freedom.
3 % She rather would die than give up her freedom.

She would die than rather give up her freedom.

Question Number : 85 Question Id : 7150533148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an open-ended question?
Options :

_— What time does the movie start?

“ What made the potter angry?

3 ¢ Why do you think that the potter 1s really brave or lucky?



Who 1s driving the car to the temple?

Question Number : 86 Question Id : 7150533149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding Formative assessment at the secondary level in
Telangana State Board.

Options :

The average of four Formative assessments is added as 20 % of marks in the final
1.« results.

The average of four Formative assessments is added as 30 % of marks 1n the final
5 % results.

The average of four Formative assessments 1s added as 40 % of marks in the final

3 % results,

The average of four Formative assessments 1s added as 50 % of marks in the final
results.

Question Number : 87 Question Id : 7150533150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the true assumption of language learning.

Options :

Language acquisition is a CONsCious process.
1. %



Language is acquired not through recurrence but through repetition.

Learners’ first language plays an important role in learning of other languages.
3.¢ )

4 % All teaching strategies will work with all students

Question Number : 88 Question Id : 7150533151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
‘Use of polite and entertamning expressions’. This 1s a feature of the following discourse

Options :

1 % Biographical sketch

Compeering
2.

3 % Letter

Essay

Question Number : 89 Question Id : 7150533152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Example for ‘realia’
Options :
DIKSHA e-content

Blackboard

3 ¥ Handcrafts

4 % Textbook

Question Number : 90 Question Id : 7150533153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The best way of comprehending the unfamiliar passage can be achieved by allowing
learners to

Options :

use smart phone to understand the passage easily and quickly.

write the passage twice in the notebook.

guess the meaning of the words and sentences in context.
3.¢

refer a dictionary to know the meanings of the words 1n the passage.



Social Studies

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 91 Question Id : 7150533154 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

71505393
4

Online
Mandatory
60

60

60

Yes

0

1
715053156
Yes

null

Identify the correct sequence of the given temperatures in the ascending order (

-16°C, 29°C, 0°C, 4°C, 1°C, -1°C, -4°C, 16°C)

S(12°C, -16°C, 29°C, 0°C, 4°C, 1°C, ~19C, ~4°C, 16°C)oe?Fo5* ool 7o L & s

Options :

sl [

- -TU )

0°C,-19C, 1°C, -49C, 4°C, 12°C, -16°C, 16°C, 29°C



-16°C, -4°C, -1°C, 0°C, 1°C, 4°C, 12°C, 16°C, 29°C
2. ¢

-19C, 4°C, -4°C, -16°C, 0°C, 19C,12°C, 16°C, 29°C
3. %

29°C, 16°C, 12°C, 4°C, 1°C, 0°C, -1°C, -4°C, -16°C
4. %

Question Number : 92 Question Id : 7150533155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

When itis 2 pm at ‘X’ located at 45° Eastern longitude, the local time of a place ‘Y’
located at 45°Western Longitude is

386 e Y Ol P A0 LUnEd L i X oy b 450
Kx

Options :
6.00 am
£6LC

8.00 am

2. ¢ i.RL.C;

8.00 pm

i,.gﬁ.:.rl;
3. %



Question Number : 93 Question Id : 7150533156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the true statement among the following regarding the Internal Structure of

the Earth
st fuherntlio? I Lesdunfets
Options :
The outer laver of the earth 1s known as Mantle

- U‘Lgiflg{,ul’i :fééyﬂiﬁ):ﬂ{,ﬁ{;mfu’:i

The crust 1s mainly composed of Gold and ferrous

-;:'_L,U}J,;;:_:';Jlé_.r_f:ﬂdj{?ﬁ

The density of the material in the mantle 1s more than the density of the

material in the outer core

_.;:_t‘ﬂa:pﬁ.!rﬂ‘»i ;EWL,(J’_-JLU':EJIJ,‘I/ &:,;: LEC(JL-JLU':::{*L-;?JJ

The outer Core of the earth is composed of liquid metallic material like Nickel

and Ferrous

-UEJL?J,EU::fjbéLpr&:U:?#jjﬂluﬁJ,/’b’,‘f/i}}ﬁ{wr_fj



Question Number : 94 Question Id : 7150533157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Geologists, weathering, erosion, transportation and deposition are

responsible for the formation of these landforms

e sl LIE SIS P NE i s 3 sl o Lkl b

Options :

The First order landforms

JEIE IS o0
1, % k
The Second order landforms
L_Jﬁ'f J:J L_‘:r,._?ﬂf_.;'}:
2. %

The Third order landforms

o, I-f ™
Ulﬁi‘.iju ?J!‘L—f:‘

The First and the Second order landforms

.‘Jﬁl Qi; df,._:u_!f_.f:_u}i 2’.::“

Question Number : 95 Question Id : 7150533158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The Himalayvan Mountains were formed by this process of

Crasl qur' uké‘ k.;’*::j Z

Options :

The Eurasian Plate pushing into the Indian Ocean.

-?pﬁjﬁﬂrﬁf /of -7,

The Indian plate pushing into the Eurasian Plate

_.:;LFJJTGJ:@?J:?J{'J?JE?JH

Rising up of Lava from the Mantle

c:..ﬁl:J:..:f{_.;_lf‘

Sea floor spreading

| LS

Question Number : 96 Question Id : 7150533159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the items given under ‘I' with the items given under ‘1T’

C.

Choose the correct answer

Sz

Mistral

Options:

1.

2.

4.

Lbire e Lo ffwr L]

1.

_£?§*IK?|£_“J')J

I
The cold local wind blows from the Alps mountains over

France

¥ el e U A2 finfees s
The Hot local winds that move down the Rocky Mountains
in the USA and Canada

GE eI £ e U Sz g S
The Cold local wind blowing very fast in the pampas
region of South America

G et ST UL L AR RS s

the hot and dry local winds blowing in the plains of North
India

T4 S Ll afin e S

A-iv, B-1,C-1, D-in

A-iv, B-111,C-1,D-11

A-iv, B-1i, C-1, D-in
3.¢¥

A-iv, B-m,C-11,D-1



Question Number : 97 Question Id : 7150533160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

These forests are found in the regions near the equator and close to the tropics

Y. TN LY Ny PRI 3
Options :

Tropical Deciduous forest

&L{*"i};;{ Lo/l b

1. %

Temperate Evergreen forests

5w =Bl L) e e

Tropical Evergreen Forests

:.-L(;?JL;UM ol b
3. %

Coniferous forests

oy L e

Question Number : 98 Question Id : 7150533161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the Equatorial Crop among the following

-éduﬁufuwg'fﬂ”"ﬁubv"’



Options :
Rubber

£
1.4

Cotton

Question Number : 99 Question Id : 7150533162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Industrial locations are concentrated at the most appropriate places where
gt lsiif pLusf G

Options :

All the factors of industrial location are either available or can be arranged at

lower cost

e BB eI A L s N (R L 55

| s

1.4



The raw materials for the particular industry are available in plenty only

DA SV Y I Lexfod 5

The cheap labour 1s available in plenty only

_,;:_.__.;Lr';‘::;...:.fﬁfﬂ:)? S

The transport facilities are available for transporting goods conveniently only

-uffg’}f:uﬁ)éb.;_jﬁéj—LJEL&L”TTL;FF

Question Number : 100 Question Id : 7150533163 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, these states of India are sharing the boundary with Telangana
State

-L,EG'L 4 JLJ@L":#L;U:E Vol Ju::" _L.JL,,H;JL;J?.'};HU':J S
Options:
Andhra Pradesh, Karnataka, Maharashtra and Chhattisgarh

./ - & -
2SI Pl S sy 5T
1.¢

Andhra Pradesh, Tamil Nadu, Maharashtra, Odisha

S FUlpessehbe syl £ AT

3. %



Andhra Pradesh, Karnataka, Maharashtra and Odisha

) et o A s
5 e KL syl P A

Andhra Pradesh, Karnataka, Maharashtra, Chhattisgarh and Odisha

F - & - -
2l p s u"ﬁilffjl.f’rjtj rudJ,{_J/"",;F

Question Number : 101 Question Id : 7150533164 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
This city of India has emerged as ‘the Electronic capital of India’
S 5T p B N s K s
Options :
Hyderabad

rLEuf

Amnritsar

Vi

Pune



Bangalore

25

Question Number : 102 Question Id : 7150533165 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Solar Insolation’ means

G Lz isis™

Options :

The energy that is constantly emitted by the Sun

. -L&ﬁﬁ-;ﬁgwa-ﬁpgfﬁﬁtﬁu
1 . b
The Solar Radiation received on the surface of the earth
- - - - &
PRV o 3
2.

The angle at which the Sun’s rays fall on the earth’s surface

o

- e P
. .?L;:f.ﬁ.’.l;.')-iu - i‘”d{_}ﬁ"’.{,p * :dbeu

3. % .
The amount of Solar Energy radiated back into the atmosphere by the earth
-~ o i o " . &
NSV VWYL O STIP L
4, % '

Question Number : 103 Question Id : 7150533166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The southernmost tip of the Peninsula Plateau is

PR A

Options :
Malwa Plateau
AE 2T
1. %

Aravali Mountains

bt Qs

Chota Nagpur Plateau
J;{EL’)FU .J"u

Kanvakuman

S

Question Number : 104 Question Id : 7150533167 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the working capital among the following
A T S 11 0o 1040 4

Options :



Tools, machines and buildings

pjﬁleﬁuljﬂ

The raw materials and money required

::L/JKJ:J::T;J&F'G
2.

Technology and enterprise

A g

Planning and management

4 % ,,_flﬁ'}b:fu:ff.,f:‘:"

Question Number : 105 Question Id : 7150533168 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During these three months, the Tundra regions are almost dark

£ ouy e 1t
~& E‘f-:.{;t‘g_ P B S s )

Options :
May, June and July

1% QUL z

November, December and January

S8 sl /:"J,ﬂr. /-*‘:'
2.



March, April and May

L:‘Fil'uta;"f‘-:ul-

August, September and October

.f_;flul/:?n:rj

Question Number : 106 Question Id : 7150533169 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The amount of invisible water vapours present in the atmosphere 1s known as

Qe Sl JTL T 2 F sy ol

Options :
Humidity

1.4 ._"..;_;J’j

Condensation

xS

Evaporation

,-"f'
3. %

Precipitation



Question Number : 107 Question Id : 7150533170 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

From among the following Group, the countries bigger than India in size are
-;:_I.Tf:f::.,dﬂ-:ﬁ’f.._:";(;ﬁ WiV a:pﬁ?}xfufuti__w"
Options :
Canada, Russia, Thailand and Brazil

gtjl,:J:f@dgiurjjflﬁ!

1. %
Russia, United states of Ameriea, Indonesia, Brazl
. 5% b, e i
J;Id,?“[,.;_* _u-lc,_,}_/fa.&‘i"c_g:.fkﬂurﬂ
2. ®
Australia, Canada, Brazil and United States of America
i~ -y i . ke -
.&;/|aﬁ’:_l;:.-r'gujful_'ﬂgfilfrrr_@.f"
3.
Australia, Brazil, China and Indonesia
sl sl B ek 1
4, %

Question Number : 108 Question Id : 7150533171 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In 1774 CE, the representatives from 12 American colonies met at this place to protest

against the British and requested the King George II1 to restore their previous rights
V] JU .;#Lc;,rm:..r'r L aL?'-'-:L ;}lyfﬂ','g’l._ﬂﬁ ii;:ﬁl gy Al L L,'{:LT.!E&JI_,,{__l’LE'AU-’F nr1774

SeLJs % L
Options :

Georgia

2

Connecticut

Philadelphia
L3k 318
3.¢ »

Massachusetts

U= gl

Question Number : 109 Question Id : 7150533172 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The collection of taxes namely ‘Tithes and Taille’ were associated with this Revolution

p i
LA IJFJM Kur:!:"’:u’f (tTaillessI Tithes

Options :



The American War of Independence

LFEUT._E’-{‘J.}T/I
1. %
The French Revolution
,_.,-U.E'.I L:.—:’JUE
2. ’

The Glorious Revolution

,_'_,!,LEII‘,-I'"C;.;

The Russian Revolution

ey

Question Number : 110 Question Id : 7150533173 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The person who helped Akbar the Great in framing a vision of Governance around the

idea of ‘Sulh [ Kul
J,J,u,‘,’g__llg,_—,ﬁ;gﬁ'ifﬁZ_Jf;)’jlﬁ’;_‘#uﬁuﬁ”
Options :
Jahangir, Akbar’s Son

Flats i



Tansen of Gwalior

D, t‘?zflf

Abdul Rahim Khan |

Sl =

3. %

Abul Fazal
F

Question Number : 111 Question Id : 7150533174 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The seven tombs of the Qutub Shahi rulers marked a unique architectural style which

was a mixture of

_..:«_;KJ‘MH" PSP NS N L s

Options :

Persian and Hindu Style

PSR

1.4

Gandara and Hindu Style

_/:;J/J’:J-'ﬂwubﬂf



Indo-Sarcenic Style

. 00 oy

Indian rock- cut architecture Style

n IS 15k

Question Number : 112 Question Id : 7150533175 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rights of a person arrested under ordinary circumstances is laid down in the
F’-‘ I.v-' = e /. - -~ " . e jﬁ
WWes LOPUSKT Lap i) Lallpl
Options :
Right to Equality

e hsls ¥

Right to Life and Personal Liberty

Lf’ﬁ ,J,-lf,c;[;’

Right to freedom of Speech and Expression

ST J._,J'L.D' JL,;-gI.x;I,g}?
3. %



Right to Constitutional remedies

yggﬁufbdﬂ}‘:

Question Number : 113 Question Id : 7150533176 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the INCORRECT statement regarding the Legislative

Council of Telangana State
el T LS gl S a it
Options :

3 members to the Legislative Council are elected from teachers

AL NI LS S ysE

3 members to the Legislative Council are elected from Graduates

924 [0 4 g, 1OV VS o SP)

16 members to the Legislative Council are elected by the members of the

legislative Assembly

'l . - r - H -
. B SN E g L 6 LS S wdE
3.

6 members to the Legislative Council are nominated by the Governor

L gl kil S e L S



Question Number : 114 Question Id : 7150533177 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Among the following, [dentify the incorrect statement regarding the Unification of

Germany

s LN LG 2 i

Options :

Till 19* century, Germany was divided into number of small kingdoms and they

were the part of the Holy Roman Empire

ot ey G BUFLLE BT T 2F S 319

1. %

Rhine Confederation was formed with 39 kingdoms

_'E:,;_;L.I&J JL;_!{_‘;FE-JII U*é_.u}:"k.ﬂ‘}

2. %

A customs union called Zolloverein formulated some trade rules for free trade,

economic cooperation in these kingdoms

L,'r"fﬁ;‘.'z.u:ﬁﬁ L*-‘}.:.;‘lf'q 3 IJTU’:..,LTV gré_,;ujdwﬁ‘q’{”';j"gg‘{ld L,Jr"; ﬁ_gl

e - b
3 % et bl
Ems telegram was associated with Austro — Prussian war of 1866
- ] ik
ce e Bl ATE186607 6714 Ems

4.

Question Number : 115 Question Id : 7150533178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In most of the Spanish ruled countries, all the powers were vested in the hands of

Supreme Council located at

& ) " . n a3 g2 e .
Bl 2& i p LUAVE L S g et N ol Snkser o 3 L i)
Options :

Berlin

F

Paris

u LEE

Question Number : 116 Question Id : 7150533179 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



According to this, no European power would be allowed to build the colonies in the
American Continents and the United States will not interfere in the affairs of Europe

or their colonies in other continents
.{/Faﬁ*’f_l_...'.-r‘L;J.'Ioduff._".r.}lgfurdr_.j/:ﬂ:.rpgT;ﬁuj‘ﬁyuu{ﬂ:r_ig_é;gd{p‘tﬂibfZ.Jf
_ﬁfur:f’;léuJ:,u-w&;g:ﬁﬁiurﬁﬁuf_ﬂ;éggd’f

Options :
Marshal Plan

| % L_','!i‘ul"'dzl.

Munroe Doctrine

s ~
2.
New Deal Policy
ng:,ulﬁ!:f
3. %
Carter Doctrine
4 % L,lr"if,r(

Question Number : 117 Question Id : 7150533180 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Chinese allowed the Europeans to conduct trade with China through this port
D=l Ja_./' o> L..:'-UGL,PVL;U Unsdl_ s

Options :



Port of Shantou

ST
1. %
Port of Hong Kong
SLEFEE
2. %
Port of Macao
LK
3.¢
Rocky harbor
N9 JL
4, %

Question Number : 118 Question Id : 7150533181 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, these adivasis lived in the forests of Odisha
Y, S AP "E')"J—-;:':ll'r I8 T:‘UI:JE‘—_"""}
Options :
Baiga and Mura

L;F;}li;



Kova Reddy's

Siis

Saora Adivasis

ST LAl
3. ¢
Munda Adivasis
(§hat aT1 4
n (Slaball s

Question Number : 119 Question Id : 7150533182 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the cause for the first world war

G b Blelt i

Options :

Militarism caused tension between countries and rivalry, as they struggled to

outdo each other as the most powerful

" ﬁ%u@_i&;;‘u-{la:fu;ﬂ/&ﬂ:a L*'u,-lﬂ.‘:dyﬂ;ibﬁb'a"_. iy ..'.«;/L"‘

2

5

Imperialiam was a motive of making countries stronger and more powerful,

which led to tension between countries

_I!-:u_-;,}L‘:.';j'l(;:iJV :...._:-:Ju’"?tuﬁibupﬁlJ:::;?"J"HJL?LJ%L; .{fu;ﬁ%b



Alliances were mutual military agreements between nations, which led to

tension and rivalry between countries

A J..".J:EJJ:F,{E'J,;,,'?J: LIz & f__)“?‘u L;:’ L}‘T@uyﬂﬁ_ﬁb’;f&bﬁ
3. #

Sinking of American Commercial Ship by German troops

LS A L e AT S 2
4.v

Question Number : 120 Question Id : 7150533183 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In October, 1917, the Soviets under the leadership of this party seized power from the

Provincial Government
_Z‘J_./J:;ﬁ.:..l;?l:.:ﬁ‘ﬁgég:‘ u’f:.f:gpﬁxguﬁé_. Sy Jer 191 ’L:?/l
Options:
Mensheviks
1. % “'/’-"ﬂf

Bolsheviks
S
2. ¥

The king, Czar Nikolas 11

(2 u"J:l'/ il



The Democratic party

Question Number : 121 Question Id : 7150533184 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Adolf Hitler assigned the responsibility of economic recovery to this economist
L 2B A1 3 S e T
Options:
Hjalmar Schacht

’l.ﬁ"'/ ;f—SL:;JL‘!HL)

Wilhelm Ropke
gl |"-“J"

Norbert Thorn

L','..-’L; n_*.f..{..ft

Alfred Muller Armack

T3 2

A

Question Number : 122 Question Id : 7150533185 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This person was appointed as the constitutional advisor of the Constitutional Drafting
Committee and he later became the First Indian Judge in the International Court of

Justicein 1950
NIt 19500 LU b L 2 G L Wi 962
A Gl er Y L.ﬁ"g,u'":._.u nrt i RS J
2 Ede ikl Lo
Options:

Md. Sadullah

,JI..'I,wj'

B.L. Mittal

S
. g

2.

D.P. Khaitan

L. G

Sir Benegal Narsing Rao

4.

Question Number : 123 Question Id : 7150533186 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The term ‘Tsunami’ has been coined from the Japanese words ‘tsu’ and ‘name’, which

means
-U‘?dyig”?yiLJ’:Lj:l:..'name’;:!'tau‘ﬂia’lL.B&lgf,ﬂb"lgﬂf‘Tsunami‘
Options :
Port and Tide

1 % ij':r.*..fﬂbgjﬁ:

Harbour and waves

g_;f:”;:fags.iﬁ-:
2. v

Port and Sea Waves

3 % ,'_,a'f}"'djﬁ‘”)}h{h&;:

Port and ocean Current.

L,.r_':ugjﬁj} ! n(ﬁif.

Question Number : 124 Question Id : 7150533187 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The International Cricket Council (ICC) was shifted from London to

I S PRy o S [ T B

Options :

Qatar

/&!



Syvdney

Mumbai

&

Question Number : 125 Question Id : 7150533188 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the women members of the Constituent Assembly
u L,, e .:'L,.f VFJLF‘J.!‘" ,_J!lp,.eu"g S
Options :
Sucheta Kriplani

ik

PJtT'

Sarojini Naidu

[y L - Ve

Durgabai Deshmukh

m@-:&@gﬂ

3. %



Annie Besant

4y G

Question Number : 126 Question Id : 7150533189 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, the Government will not be run on the basis of any religion. Citizen will have

complete freedom to follow any religion or no religion at all. It means
-~ i ¥ ~ s Sl ; 5 e d "
WIS il S T LUt f Beble ot (S nilfl S erf s
L}y L’.JF_U:. LJJ(.T{,JLJ{ gf
Options :

India is a Sovereign State

- oY f..g O=2Y"
1. %
India is a Socialist State
e MG ALk
2. %
India 1s a Republican State
3 5 MGt LIy s

India 1s a Secular State



Question Number : 127 Question Id : 7150533190 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If there are differences between the two houses of the Indian parliament in passing

any ordinary law, then the final decision shall be taken in
VAN LSS 23 B s L I Uin L e AQe st o S udb e’ 5
-l
Options:
The Lok Sabha Only

Sl S~

The Rajva Sabha only

u':l.g!-"lﬁi;-jﬁ
2. ®

The joint session of the Parliament

uqu LLPII,-‘J‘:__HJJ__;L
3.

The Cabinet meeting headed by the Prime Minister of India

BN S IIN] r‘vl,o, L bss

Question Number : 128 Question Id : 7150533191 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Swami Vivekananda set up the Ramakrishna Mission with these objectives

e F L 17 I i

Options :

To make the people believe in one Supreme God and to revive a reformed Hindu

Religion

L L3 et dssirns sl g 5 o KIS S

To make the people engage in Social Work and Social Service for International

Reconstruction

L L S teh i Bem b3S UL £ 3 2 it

To revive a reformed Hindu Religion and to engage in Social Work and Social

Service for national Construction

&Lﬁ[ﬁk’ulfﬁﬁk’é L:T/:F“J;leﬁ,ﬂﬂijlﬁlh..—:ijﬁ
3.+

To preach ahimsa and to revive a reformed Hindu Religion

_é. iﬂ,wljk?ff._‘.{i;ﬁ;ﬂ%.:ﬁw JL;!T

Question Number : 129 Question Id : 7150533192 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Muslim social reformer who started a journal Muallim - e - Niswan for writing

women’s 1ssues

W phi o Pl Ll o L i 2l ge



Options :

Mohib Hussain

7 F

1. %

Abdul Quayyum

o2 a?
2.

Sir Syed Ahmed Khan

il A
3. %

Nazar Hussain

e

4. %

Question Number : 130 Question Id : 7150533193 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

It shall be the duty of every citizen to maintain ‘the unity and Sovereignty of India’, 1

a

-éj.uf,f’ ,{:ﬁ‘djf'; E?f:ﬂ':lL"J]I :?Féuﬁjﬁ,'e:fﬂf,}f fdﬁﬂ&;

Options :
Fundamental Right

s L



Fundamental Duty of a citizen

2 u}z’;d’?{d}?ﬁ

Directive principles of State Poliey

Jfg;p_wﬂyp
S

3.

Economic Right of a citizen of India

F 56U ALl
4, %

Question Number : 131 Question Id : 7150533194 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
By 15% August, 1947, these three princely states had not agreed to sign the ‘Instrument

of Accession’ with India
E;’:J:(,'In%trument ant:cesainn")dﬂ{beL'f.uL’isﬁLu,}E;LﬁLﬁuﬁydfd{if 194?;~flx15
ELy
Options :
Hyderabad, Kashmir and Jodhpur

B
J;muﬂfﬂr;:r)f!@bf
1. %

Kashmir, Mysore and Hvderabad

- &
:[_,La,g?.x:br’fr/:'/
2. %



Raipur, Kashmir and Hyderabad

- &
;I._,f_,-f;jfﬁ_") c,.r_fq.f_[)

Hyderabad, Kashmir and Junagadh

ﬁ "
oMbz ol s
4.9

Question Number : 132 Question Id : 7150533195 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The Election Commission of Indiaisa

-
&

— LT
Options :
Quasi- judicial body

1 % MIJF;«E-E:’T‘::

Judicial body

syl 2lpate

Autonomous Constitutional body

sl Sus= s 2558
3.¢

Statutory body

ul.!ld.!?ﬁ'
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Question Number : 133 Question Id : 7150533196 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, identify the country located in the Indian Ocean

Ot std LUt S
Options :

Madagaskar

il

1.9

Taiwan

et b
5 % Vg

Bermuda

138 s
3 %

Jamaica

¢z
4, =

Question Number : 134 Question Id : 7150533197 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The rate of GST for Televisions 1s 18%. The maximum retail price of a TV 1s

Rs. 70800. The amount of Tax to be paid to the Government for purchasing TV 1s

Sl e L S - s TO800MRPE S - 45 180 FSA A1 £l

s i
-d}fﬂ;tfg’i“:
Options :
1 % Rs. 12744
Rs. 10800
2. ¢
Rs. 9000
3. %
4. % Rs. 14744

Question Number : 135 Question Id : 7150533198 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

One among the following 1s NOT a Characteristic feature of Developing Countries
B e A0 1387 )
Options :

Having Low Per Capita Income

b #3474

1. %

the problem of Unemployment and underemployment is observed

-< CL“l?krsﬁﬁﬁfﬁ*ijg}u}f;ﬂdzgiué
2. %



Presence of excessive dependence on agriculture

ce bt AL Il St 5
3, #

HavingLow growth rate of population

3 (il Lr“ % ey
- U0 A LSl
4.+

Question Number : 136 Question Id : 7150533199 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, the rate of interest 1s higher on these deposits in India
-;:'_D-:Fﬂ;uﬁ;},;uﬂ L,':L,';futi._ff’wdi?}ﬁf
Options:
Saving Deposits

2l =2

1. %

Current Deposits

PrgR

-

Fixed Deposits

23N
3.¥ y



Recurring Deposits

sid L
:-"Jk;"—al:ﬁj

Question Number : 137 Question Id : 7150533200 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, the biggest commercial bank among the following is
- i&)_lﬁ'"ika.__.—fb/;ftﬂ:ﬁ; S —
Options :
Reserve Bank of India

.L_-.»EF-.-;Tb—E::JJ:{*J
1. %

State bank of India

(]

Axisbhank
-J:-"-:u"}'f'
3 %

[CICI Bank



Question Number : 138 Question Id : 7150533201 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One among the following 1s NOT the function of World Trade organization

DRy gt T S

Options:

It provides monetary support to the developing countries to enable them to

conduct trade freely
U L,Eﬁ'i:.«,fl_.‘i-".:a:rjfu,.ﬁ‘{‘_ t/ Iflf il L 07

1.4

It seeks to resolve trade disputes

rﬂ' & 3 I.--*' - - -
S " i (é_,f ;_,.P:f:.rb;[:r 'J..fl:f‘:«

2. %
It acts as a forum for multilateral trade negotiations
i -~ I [ P
b/ b p Lt Ll Lol AN 2
3. #
it ensures that trade flows as smoothly, predictably and freely as possible
r i * o - i L i -
314 45 bl E LT 21 .vuﬁ FUg e S b U
4, %

Question Number : 139 Question Id : 7150533202 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



By this policy/commission recommendation, Continuous and Comprehensive
Evaluation (CCE) was made mandatory to introduce in schools as an important step of

examination reforms and for the qualitative improvement in the education system

,;,J:bi.fﬁﬂi_-,w@@'lféw L?:Jy 2L iju‘f" I'f ;;;Lfij'—( [t L
Mg/ Tty

Options :

National Policy on Education — 1968

u%ﬂ-ﬂgﬁgf

National Policy on Education — 1986

1986057 EL,CL’” S7

2.

Secondary Education Commission — 1952-53

I N - [,
. 1952-537 ¥ $ 9

Indian Education Commission — 1964-66

1964667~ £ Je sz

4. %

Question Number : 140 Question Id : 7150533203 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
‘Development of right type of behaviour and conduct’; and ‘skill of finding solutions to

the social problems’ respectively are known as

- U@W,‘Q'FLH/;JW&’LIJLF‘ up{_l. H:.JL—* u{k‘ﬂ|L‘g+:f;3,}ﬁ':firl’fuluf£.(3.:—w:

Options :



Both are aims

- a5 s

Both are objectives

A1 IS
2. %

Objective, aim
w5 I
3. %
Aim, objective

4w SN

Question Number : 141 Question Id : 7150533204 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement 1s NOT TRUE related to merits of spiral approach?

_;:'_,ﬁ(:.-u:yid?d .'ag,/‘urgéjug. U:(u':uijf’

Options :

Content difficult is according to the level of students

"f—a&’iilﬁwiﬂjj’ufuﬂ

1. %

Teaching 1s done based on the student’s mental level

2w Qe R dT 6P



Due to continuous repetition of content retention of concepts in students will be

for long time

-t’:—-r.“’f{}.klfb.ﬁ-’.b(&'j!juﬁfwaéﬂlﬁ;uw;dﬂﬁf

3. %
Logieal /Rational thinking will not be improved among students
4.+ "f—ﬂ'L?'.E:’Ucfifzi/;u’:r'kw,r'/f-.;,ydui,:h.-"db’

Question Number : 142 Question Id : 7150533205 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

To show the crops grown in a village for one vear, this graph is most suitable
-y L:‘;—-;I.r'f;ré- LL,/}LEIJ‘@; .._.Lon"r A0 LJL*-Q
Options :
Pie-graph
i L

1.¢

Line graph
, % S

Bar graph

_.;l/rg.«@



Time-line graph

_jlfuffﬂ—réf

Question Number : 143 Question Id : 7150533206 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Constructivist approach focusses on the following things / aspects

R Jﬂ}:ff,; Ui ﬁ',.u(j Lu{_é'-&r

Options :
Developing a situation; Transmitting knowledge; Exhibiting and reflecting

_EIJE:&J:FW;JJLErJf}dj:.rLﬁL”iL‘;:i:,j:UL;u"

Creating situation; making class as a whole; Questioning; Exhibiting and

reflecting

LTILE'EMJ le tf":'jbf &S ey dt _.gl Jos L?.gf,f.;;’ ft/q{-q. JiF v

Developing a situation; Grouping; Questioning; Bridging; Exhibiting and

reflecting

(S SG b S PU S o b Sl de S § ions S ool U5 1
3.

Knowing familiar situation; Observing; Questioning; Exhibiting and reflecting

4% de E&j_!ltff:rfuitffgj v i‘:..ff;.ig L:.'HL'FL?:'UL; 3% Dy



Question Number : 144 Question Id : 7150533207 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The following tools should be used for Formative Evaluation (FA) at secondary level

e b et T ,t;__,zg.:.é@ﬁ _f;’*” 96

Options :

Teacher reflections; Children participation; Slip test and project work

1. % n_Jr:'J-.".«J’i_,'F{.)ﬂM#c&q;prp'fugiéfdrJ'V

Children participation; Responses, Children’s written work; Project Work and
Ship /written test

g'g“ld{j.-""l..*.«—j.‘:'l"ul_'jj;ﬁlgfl‘?ddf{u.fiéLlﬁ.'n:.rﬁ; ({_J P
2.

Portifolios; Project work; Children responses and Slip test/ written work

_ f\".‘ll,_f,;/;."'lJ#J:féglﬁiu.@...-'jh.‘—g'/,_j.!f:;._‘.u..j

Teacher observations; Children participation; Responses and project work

ol & . -
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Question Number : 145 Question Id : 7150533208 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statement 1s NOT one of the advantages of social sciences?

e eI LS L S Gl St

Options :

Social sciences provide education for effective citizenship

QAP L B G

Social sciences help in the development of values needed for democratic

socialism and secularism

_;:L.J{JA g’f%. :é,;,j;r:ffﬁbﬁ’ﬂél. ilﬁn)}?m:ﬂﬁrwxfu:v&v

Social sciences are helpful in developing language skills

5 v st} SUTA VU LG

Social seiences are useful in developing awareness about the problems of the

soclety

4 % -;:'_L:I:TATJFLI':.VL;#UE’.%.Jé:}fjﬁxlgjfﬁdﬂwﬁ;f?@k

Question Number : 146 Question Id : 7150533209 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Study of biographies of social reformers, freedom fighters ete develops this kind of

values among students

b pLABL L NS I do o s BT a

Options:



Inspirative values

J'ﬁl&'g!
1.4

Interpretative values

- -l.“
A

2 %
Voeational values
AN
3. %
Disciplinary values
J'ﬁ'ﬂz;-:’!f .,,.,',:" 1wy
4. %

Question Number : 147 Question Id : 7150533210 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This active verb comes under procedural knowledge level and remembering category of

cognitive process dimension

oL t‘lﬂ.:.-;f.n/.iz.:.-f'lrwli} L,(.:,L}”'MFLL’:!]?’:.-A: Jf JLH:?UP’L,F,:

Options :
Tabulate

1 L/ e



Classify

FALPETE
2. W
Explain
. (5w &7
3. % ST
Summarise
g
4% [/ =lle

Question Number : 148 Question Id : 7150533211 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s NOT TRUE related to psychological prineiples of
teaching

_;:;uﬁ“;f;:uhb.LJ:fufJ_i_.JL:'i’?L J;"r;l:&ﬁ LJ Ik
Options :

Principle of variety

LJ:‘FE'._-.,,-LEJ.
1. %
Principle of motivation
UK S F
2 ®

Principle of progressiveness

UK i
3. v .



Prineiple of recreation

Jri6C P
4. %

Question Number : 149 Question Id : 7150533212 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘The gazette extract published in news papers’ and ‘Judgements of courts’ are this kind

of sources respectively

/| .l - 2l wr " * ‘l’:. "
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Options :
Primary source, Secondary source
JI’ & * . 1] & ’; -
_— ElsS =i
Secondary source, Primary source

f:f-l.xidbfaf—ﬁ'ﬁgjjf'
2.

Both are primary sources

< P, R
OB 3ILEI Udss

Both are secondary sources
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Question Number : 150 Question Id : 7150533213 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In this phase of concept mapping, students find out new illustrations by thinking and

get complete understanding on various things

o Ld * - st o ¢ i - " /% g -J.
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Options:

Phase-I; presentation of abstraction

FE S oo: o ity
W

1.

Phase-1V; closure

T,z

2. ®
Phase-1I; propositional phase
do s e p1 s
3. %

Phase-I1I; application
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